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lkekftd foKku
SOCIAL SCIENCE

(213)
f'k{kd vafdr ewY;kadu i=k

TUTOR MARKED ASSIGNMENT

oqQy vad % 20
Max. Marks : 20

fVIi.kh% (i) lHkh iz'uksa osQ mÙkj nsus vfuok;Z gSaA izR;sd iz'u osQ vad mlosQ lkeus fn, x, gSaA
Note: All questions are compulsory. The marks alloted for each question are given against

each question.

(ii) mÙkj iqfLrdk osQ izFke ì"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u ozsQUnz dk uke
vkSj fo"k; Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first
page of the answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa fyf[k,A 2
Answer any one of the following questions in about 40 to 60 words.

(a) dksbZ nks fØ;kdyki fyf[k, ftUgksaus iwoZ euq";ksa dks vkt osQ euq";ksa (tks ge ns[krs gSa) ls vyx
fd;k gSA (ikB&0 ns[ksa)
Write any two activities which made the early primitive humans different from the human beings
we see today.            (See Lesson- 0)

(b) eè;dkyhu Hkkjr osQ fdUgha nks cps gq, vo'ks"kksa dks fpfg~ur dhft, vkSj irk yxkb;s fd mudh
lgk;rk ls vki fdl rjg ml dkykof/ osQ bfrgkl dks le> ldrs gSaA (ikB&2 ns[ksa)
Identify any two material remains of Medieval India and explain how they will help you to
understand the history of that period. (See Lesson- 2)

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one of the following questions in about 40 to 60 words.

(a) gkykafd HkkSfrd :i ls iwohZ Hkkjr vkSj if'peh Hkkjr ,d nwljs ls fHkUu gSa ijUrq budh viuh
fo'ks"krk,¡ gSaA dksbZ nks fcUnq fyf[k,A ( i kB&9 ns[ ksa)
Though Eastern India and Western India are physiographically different from each other yet
they have their own characteristics. Write any two points. (See Lesson- 9)

(b) vi us LFkkuh;  {ks=k esa fo' o rki u osQ dksbZ nks i zHkko mfpr mnkgj.kksa osQ l kFk fyf[ k; sA
( i kB&10 ns[ ksa)

Write any two effects of Global Warming of the area you live in by giving appropriate examples.
(See Lesson- 10)
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3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2
Answer any one out of the following questions in about 40 to 60 words.

(a) ^^izLrkouk esa mfYyf[kr ewY;ksa dks vf/dka'kr% Hkkjrh; lafo/ku osQ mn~ns';ksa osQ :Ik esa vfHkO;Dr
fd;k x;k gSA** ,slk fd;s tkus osQ dksbZ nks mi;qDr roZQ nhft,A (ikB&15 ns[ksa)
“The values mentioned in the Preamble are mostly expressed as the objectives of the Constitution
of India”. Give any two suitable arguments for doing so. (See Lesson- 15)

(b) ^^73osa vkSj 74osa lafo/ku la'kks/uksa us efgyk l'kDrhdj.k dk ekxZ iz'kLr fd;k gSA** O;k[;k
dhft,A (ikB&18 ns[ksa)
“73rd and 74th amendments have paved the way for women empowerment.” Explain.

(See Lesson- 18)

4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4
Answer any one of out of the following questions in about 100 to 150 words.

(a) ik"kk.k ;qx ls dkaL; ;qx c<+rs gq,] ekuo thou esa cnyko vk x,A bu cnyko osQ fy, ftEesnkj
pkj dkj.kksa dks fpfg~ur dhft, vkSj O;k[;k dhft, fd fdl rjg bu dkjdksa us yksxksa osQ thou
dks lq/kjus esa lgk;rk dhA (ikB&1 ns[ksa)
Human Life changed when it progressed from the Stone Age to the Bronze Age. Identify any
four factors responsible for it and explain how they helped to improve the life of the people.

(See Lesson- 1)

(b) ^^{ks=kokn dks Hkkjr dh jk"Vªh; lekdyu osQ ekxZ dh lcls cM+h pqukSrh ekuk tkrk gSA ijarq dHkh
dHkh ;g fopkj ;Fkksfpr Hkh yxrk gS** bl dFku dk leFkZu fdUgha nks mi;qDr rdksZ }kjk dhft,A

(ikB&24 ns[ksa)
“Regionalism is considered as the greatest challenge to the national integration of India. But
sometime, this thinking is reasonable also”. Support the statement with any two suitable
arguments. (See Lesson- 24)

5- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4
Answer any one out of the following questions in about 100 to 150 words.

(a) unh dk ty fofHkUu dkjdksa osQ dkj.k nwf"kr gks jgk gSA ty nw"k.k dks de djus osQ fy, vki
viuh vksj ls D;k dne mBk,axs\ (ikB&9 ns[ksa)
The river water is getting contaminated because of various factors. What steps would you take
to minimize the water contamination at your end? (See Lesson- 9)

(b) ,slh nks leL;kvksa dh igpku dhft, ftUgsa vki Lora=k vkSj fu"i{k pquko esa ck/d ekurs gSa rFkk
mipkj Hkh lq>kb;sA (ikB&22 ns[ksa)
Identify any two problems which you feel hindrance in the path of free and fair elections and
suggest remedies. (See Lesson- 22)
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6- uhps nh xbZ ifj;kstukvksa dh lwph esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below:

(a) ^^nks cPpksa okyh ,d efgyk xkao esa ?kjsyw lgk;d osQ :i esa dke dj jgh gSA og vius cPpksa
dks i<+kuk pkgrh gS ijUrq vliQy jgrh gSA** vki xk¡o osQ ljiap osQ dk;kZy; esa tkdj fu%'kqYd
vkSj vfuok;Z f'k{kk ls lEcfU/r dk;ZozQeksa vkSj uhfr;ksa dh tkudkjh izkIr dhft,A xk¡o osQ ljiap
osQ dk;kZy; ls izkIr tkudkjh osQ vk/kj ij ,d fjiksVZ fy[krs gq, ljiap }kjk cPpksa dh f'k{kk dks
lqfuf'pr djus osQ fy, rjhosQ lq>kb;sA

“A woman with two children is working as a domestic help in a village. She wants to educate
her children but fails.” Visit the office of the Sarpanch of the village and get information regarding
various programmes and policies for free and compulsory education. On the basis of information
collected from the office of the Sarpanch, write a report suggesting the ways to ensure the
education of the Children by the Sarpanch of the village.

(b) vius xkao ;k 'kgj ;k LFkkuh; {ks=k tgka vki jgrs gSa] ogka 20 ?kjksa dk losZ{k.k dhft,A rhu&vk;q
lewgksa esa fyax vuqikr Kkr djus dk iz;kl dhft,A losZ{k.k fuEufyf[kr rkfydk osQ vk/kj ij
fd;k tk ldrk gSA

Conduct a survey of about 20 households in your village or city or the locality where you live
in. Try to find out the sex ratio in three broad age groups. The survey can be conducted in the
following format:

Ø-la- izeq[k vk;q Ikq#"kksa dh efgykvksa dh oqQy dk izfr'kr fyax
lewg (o"kZ) la[;k la[;k iq#"k&efgyk vuqikr

S. No. Broad Age Number of Number of Percentage of total Sex
Group(Years) Males Females Male-Female Ratio

1 0-14

2 15-59

3 60+

rkfydk esa nh xbZ tkudkjh osQ vk/kj ij izeq[k lewgksa esa fyax vuqikr Kkr dhft,A vk;q lewgksa
osQ vuqlkj fyax vuqikr esa fdl izdkj dh izof̀Ùk gS\ D;k ;g ?kVrh ;k c<+rh gS\ vkoaQM+ksa osQ vkèkkj
ij fyax vuqikr dh fLFkfr ij ,d fjiksVZ rS;kj dhft,A bu fu"d"kks± dk gekjs lekt ij D;k izHkko
iM+sxk\

On the basis of information generated in the table, find out the sex ratio according to broad age
groups. What is the trend of sex ratio according to age groups? Does it decline or increase?
Prepare a report on status of sex ratio based on data. What would be the impact of these
findings on our society?
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